jects\PROP\0114_Mellen Grant\Send-Recieve\Received\SDC\0210 Bid docs\ACAD-03041BUILDINGA&B-S7.dwg, Model, 2/27/2004 11:29:38 AM

T:\0O_TFH Pro

(@]
Nl—

T — 5/8” SHEATHING | 5/8” SHEATHING ] 5/8” SHEATHING W 5/8” SHEATHING
2x6@16” F < 2x6@16” / 2x6@16”" | 2x6@16” /
N #T= _—1” RIGID INSUL N N = N
d : | 2x6 FASTENED TO STEEL 2x6 FASTENED TO STEEL © TFH ARGHITEGTS
3/4” SHEATHING 5?74 ) 3/4” SHEATHING 3/4” SHEATHING | ) 3/4” SHEATHING BEAM WITH 1/2"¢ BOLTS 3/4” SHEATHING BEAM WITH 1/2"8 BOLTS
\ gl CONTINUOUS 1 1/4 \ PLYWWOD WEB JOIST \ ] CONTINUOUS 1 1/4 \ STAGGERED @ 24 \ STAGGERED @ 24
L TIMBERSTRAND RIM SHEAR BLOCKING I TIMBERSTRAND RIM = »
§ =/ BOARD i ] BOARD ==
| =] P
= 7 = J AN
7 A 7 7 — BRICK VENEER Z Z \
SUBE =/_ OMI AT SIM ) 2
Pl 1= NG, \__PT 2x8 | \wm WITH SOLID WEB STEEL BEAM WITH =
PLYWOOD WEB JOIST H X PLYWOOD WEB JOIST PT 2x4 @ SIM PLYWOOD WEB JOIST ] PLYWOOD WEB JOIST BLOCKING PLYWOOD WEB JOIST SOLID WEB BLOCKING %
SIMPSON A35 SR % SIMPSON A35 SIMPSON A35 _-— JOIST HANGER JOIST HANGER () (D
5,/8"x9” HOOKED = 5,/8"x9” HOOKED [ ] SECTION 4 SECTION 5 E O
ANCHOR BOLT @ 6'—0 \ ANCHOR BOLT @ 6'—0 ) = 3/4"=1-0"S2.0—A 3/4"=1"-0"S2.0—A - Qﬁ
S3.0—A a=l =9
S2.0-B e =
SECTION 1 SECTION 2 SECTION 3 Lol — |
3/4°=1-0"S2.0— A 3/4'=1-0"S2.0—A 3/47=1-0"52.0—A 7 = % =
S3.0-B L 2
b—J F—TJ o «
) - —] E &~ A
- =Rl ROR
1/4” PER 12" 1/4” PER 127 —N
5/8" SHEATHING 5/8" SHEATHING / O Q‘a CQD —] —
2x6@16"—/ / 2x6@16"—/ / 12 . —~ O Z: -
12 "% 7. 5 a7
2x12 WEB STIFFENER 2x12 WEB STIFFENER X O O
NOTCHED AT OVERHANG NOTCHED AT OVERHANG e é N o
@a)
\ | \ ﬂ ﬂ IS (D ) m:
B // t X // s O
M :‘C) 5 :C) 11" 1:_0511 m
= 5%» -l 5%” ‘l Z><_ . 8 Z ’Cc
’Ill - PLYWOOD WEB JOIST ’III - o = | @
L) WITH WEB BLOCKING 1l 6'—8 ~
H L X H L — PJ
H[] —1” RIGID INSUL. ] —1" RIGID INSUL. VARIES I i
:74 JOIST HANGER :74 é O
PLYWOOD WEB JOIST i 5/8” SHEATHING timm 5/8” SHEATHING = [1]
| [ PLYWOOD WEB JOIST [ TRUSS TYPE A o al
_/ : OUTRIGGER _/ ; 10"
2x6@16” A 2x6@16”" A /8=
r — r —
1/4" PER 127 1/4” PER 12 - | J
1” 1" J HJ
67 62 TFH ARCHITECTS
100 COMMERCIAL STREET
PORTLAND MAINE 04101
ﬂ TELEPHONE 207 775 6141
ARCHITECTURE PLANNING
SECTION 6 SECTION 7 ﬂ ﬂ
3/4”=1'—O” SZ,O_A 3/4”=1’_O” SZ.O_A CONSULTANTS:
TRUSS TYPE C
» 1 ” C.IVIL:
1/8°=1-0 o U2 R v
Falmouth, ME 04105
207-781-5242
VARIES STRUCTUAL
Five Balsam Lane
Falmouth, ME 04105-2448
207-878-8038
TRUSS TYPE B AL
1/8"=1"-0" Portnd, ME 04102
207-833-2921
ELECTRICAL:
Bennett Engineerin
TRU SS LOAD'N G: 7 Bennett R(g)ad 9
TOP CHORD M ridyhante
DEAD LOAD = 15 PSF
FLAT ROOF SNOW LOAD = 46 PSF
2x6@16”" | /—5/8” SHEATHING SLOPED SNOW LOAD = 38 PSF REVISIONS:
X —
N PLYWWOD WEB JOIST BLOCKING WIND LOAD = £22 PSF
BOTTOM CHORD
PLYWOOD WEB JOIST SHEAR WITH CONT 2x12 DEAD LOAD = 10 PSF
BLOCKING JOIST HANGER SNOW LOAD VALUE IS FOR UNBALANCED
3/4” SHEATHING 1/2"¢ THROUGH BOLTS LOAD CONDITION PER BOCA/1999.
\ STAGGERED @ 24" LOAD COMBINATONS PER BOCA/1999.
¢ - - DATE: 01/29/04
©
4 I : —4 - - - 5 5 , PROJECT No. 0114
/\aymx{ oRAWN B e

P4
% CHECKED BY: DJT
2x10
2x8 SCALE: AS NOTED
PLYWOOD WEB JOIST
(3) 2x10

SHEET TITLE:

SIMPSON A35

FRAMING DETAILS

PROJECT
NORTH

MAGNETIC
NORTH BUILDING A/B

S7.0

SECTION 8
3/4"=1"-0"S2.0—A




